
Свойства действий с рациональными 
числами

УРОК 128



Устная контрольная работа ( 5 мин)
1 вариант 2 вариант

1) 2,5 : ( - 0,5) 1) 3,6 : ( - 0,6) 

2)– 1,44 : 1,2 2) - 1,21 : 1,1 

3) 14,7 : ( -7) 3) 16,8 : ( - 8) 

4)( -0,4) х 2.5 4)- 0,25 х ( -0,4) 



1 вариант 2 вариант



Ответы:
1 вариант 2 вариант

1) 2,5 : ( - 0,5) = - 5 1) 3,6 : ( - 0,6) = -  6

2)– 1,44 : 1,2 = - 1,2 2) - 1,21 : 1,1 = - 1.1

3) 14,7 : ( -7) = - 2,1 3) 16,8 : ( - 8) = - 2,1

4)( -0,4) х 2.5 = - 1 4)- 0,25 х ( -0,4) = 1

= - 1 = - 3



Ответы: -  
1 вариант 2 вариант

= - 3,2 - 2,1

1

- 1

0,1 0,01



Свойства действий с рациональными числами
•  



На уроке
•№1224(2)    № 1222   №1220 
•№1219 устно



Дома:
•№1226 де    1227де   1229 г-е  1232


